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Example Electron Affinity (A level only) First electron affinity is the energy released when one mole of gaseous atoms each
gain an electron to form one mole ofions. Particles in the atom. Early models of atomic structure Exerciseatomic
symbolsExerciseram, rmm and mass spectraExerciseelectronic configurationExerciseionisation energies. Protons, neutrons
and electrons. Atomic Structure. Using these, the quantity of each fundamental particle in an atom can be calculated. Early
models of atomic structure predicted that atoms and ions with noble gas electron arrangements should be stable. The
protons have a positive charge and the neutrons have a neutral charge First ionisation energy is the energy required to
remove one mole of electrons from one mole of gaseous atoms to form one mole of gaseous 1+ ions. Electrons are arranged
on: The A-level model All matter is composed of atoms, which are the smallest parts of an element that can take place in
chemical reactions. The model for atomic structure CIE Chemistry A LevelAtomic Structure. When subatomic particles are
passed between two oppositely An early model of the atom was the Bohr model (G CSE model) (2 electrons in first shell,in
second etc.) with electrons in spherical orbits. Atoms are the building blocks of all matter; everything in the universe is
made of atoms. Atomic number is represented using Z and is equal to the number of protons in an atom. Atoms are mostly
made up of empty space around a very small, dense nucleus that contains protons and neutrons. Mass number is
represented using A and can be calculated as the sum of protons and neutrons in an atom. This work by PMT Education is
licensed under CC BY-NC-NDFundamental Particles. E.g. Mg(g) + e » Mg-(g) Cl(g) + e - Cl-(g) Electronic StructureModels
of the atom An early model of the atom was the Bohr model (G CSE model) (2 electrons in first shell,in second etc.) with
electrons in spherical orbits. The nucleus has an overall positive charge. It is measured in kJ moland always has a negative
sign to show energy is released. Notes. It is measured in kJ mol E.g. Na(g) = Na+(g) + eThe state symbol (g) must be shown in
the equation as everything has to be a gas Mass Number and Isotopes. Atoms are very, very small, much too small to see,
even under a First ionisation energy. Answers to Exercises What are atoms? Detailed Notes.
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